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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —---------- -
by the keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --—--eeseeceee- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the -——----ceeaeuee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the

other ------ issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he ——----eeeeeee-- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint --——-eeeeeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try {0 —-—---eeeeeee- themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8-  The local businessman accused the newspaper of defaming him by publishing an article
that said his company was -------eeevee=- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --—---meenen- , 48 you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can --------------- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3)and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Plastics contamination in the marine environment was first reported nearly 50 years
ago. less than two decades after the rise of commercial plastics production. when less
than 50 million metric tons were produced per year. In 2014, global plastics
production surpassed 300 million metric tons per year. Plastic debris has been detected
worldwide in all major marine habitats, in sizes from microns to meters. Plastic debris
has now become the most serious problem affecting the marine environment. not only
for coastal areas of developing countries that lack appropriate waste management
infrastructures. but also for the world’s oceans as a whole because slowly degrading
large plastic items generate microplastic particles which spread over long distances by
wind-driven ocean surface layer circulation. Plastics are a class of synthetic organic
polymers composed of long, chain-like molecules with a high average molecular
weight. Many common classes of plastics are composed of hydrocarbons that are
typically, but not always, derived from fossil fuel feedstocks. The most visible and
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17-
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19-

20-

disturbing impact of marine plastic pollution is the ingestion, suffocation and
entanglement of hundreds of marine species. Floating plastics. which are presently the
most abundant items of marine litter, also contribute considerably to the transport of
non-indigenous (alien) marine species thereby threatening marine biodiversity and the
food web. These floating particles accumulate toxic pollutants on their surface during
their long-residence time in polluted seawater and can therefore represent a
concentrated source of environmental pollution, or serve as a vector for toxic
pollutants that accumulate in the food webs.

When was the rise of commercial plastics production?

1) Around 70 years ago 2) Nearly 50 years ago

3) Almost 30 years ago 4) Less than two decades ago

How big is plastic debris in marine environment?

1) Few meters 2) Few microns

3) Less than 1 micron 4) Several microns to several meters

Which of the following is NOT true about the plastics?

1) Heavy chain-like molecules

2) Synthetic inorganic polymers

3) Having hydrocarbons in many cases

4) Production of more than 300 million metric tons per year

According the passage, which is the most negative impact of marine plastic debris?
1) Introduction of invasive species

2) Release of toxic materials into the water

3) Accumulation of toxic pollutants in food webs

4) Ingestion, suffocation and entanglement of marine organisms

Plastic debris is now one of the most widespread issues in all oceans mainly because of

1) marine currents

2) mismanagement in developing countries

3) its slow degrading rate and generating microplastics
4) lacking appropriate waste management infrastructures

PASSAGE 2:

The exponential rise of atmospheric greenhouse gas concentrations over the past 30
years has increased the average global temperature by 0.2°C per decade. Most of this
extra heat is being absorbed by the world’s oceans, particularly by their upper layers,
with the mean global sea surface temperature (SST) increasing by approximately
0.4°C since the 1950s. The warming of the oceans drives greater stratification of the
water column. thereby reducing mixing in some parts of the ocean. which affects
oxygen and nutrient availability and. hence. primary production and the ecophysiology
of water-breathing organisms. The increase in water temperatures is, however,
unevenly distributed spatially and. together with increased meltwater and discharged
ice from terrestrial glaciers and ice sheets, influences the behavior of ocean currents,
which play critical roles in the dynamics. local climates, and biology of the ocean.
Coincidentally with these environmental changes. industrial fisheries have resulted in
the overexploitation and decimation of about 70% of world fish stocks, resulting in
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22-

24-

changes to fish communities and marine ecosystems since the Second World War.
Both climatic and human pressures can lead to shifts in the size. structure. spatial
range, and seasonal abundance of populations., which, in turn, may alter trophic
pathways from primary producers to upper-trophic levels, propagating changes
throughout ecosystems in both bottom-up and top-down directions. Accordingly.
climate and fishing impacts should not be treated in isolation from each other when it
comes to conservation of marine biodiversity.

Global temperature has increased  —

1) by 0.2°C since the last 30 years

2) by approximately 0.4°C per decade

3) especially the deep layers of the oceans

4) as a result of increase of greenhouse gas concentrations

Which of the following is NOT a consequence of global warming in the oceans?

1) Oxygen reduction

2) Water column mixing

3) Decreased primary production

4) Ecophysiological negative impacts

What does “unevenly distributed spatially™ in line 9 refer to?

1) Different rates of warming in different parts of the oceans

2) Similar rate of warming in different parts of the oceans

3) Different temperatures in different seasons of the year

4) Similar temperatures in different seasons of the year

Which are the reason for reduction in fish stocks?

1) Global warming and climate change

2) Overexploitation and fishing instruments

3) Environmental changes and industrial fisheries

4) Climatic pressure and greenhouse gas emission

The conclusion of the passage is that —~---eceemeeeee

1) the role of climatic factors is less important than the fishing impacts

2) the role of climatic factors is more important than the fishing impacts

3) for conservation of biodiversity, climate and fishing impacts should be considered
together

4) for conservation of biodiversity, climate and fishing impacts should be considered
separately

PASSAGE 3:

Jacques-Yves Cousteau was a French oceanographer. researcher, filmmaker, and
undersea explorer. He was born on June 11, 1910 in Saint-André-de-Cubzac, Gironde,
France. He attended a boarding school in Alsace, France and then completed his
preparatory studies at the Collége Stanislas in Paris. In 1930 he entered the French
Navy and graduated as a gunnery officer. After graduation. he joined the French
Navy's information service. He had a keen interest in photography, and this gave him
an opportunity to shoot film at exotic ports-o-call in the Indian and Pacific Oceans. In
1933 Cousteau nearly lost his life in a serious automobile accident. During his
rehabilitation, he began swimming in the Mediterranean Sea to strengthen his weak
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limbs. A friend gave him a pair of swimming goggles. which opened his eyes to the
wonders of the sea.

During World War II. Cousteau and his family moved to the small town of
Megeve, near the Swiss border. Over the next few years he began his experiments in
underwater research. He met a neighbor named Marcel Ichac. who shared his passion
for exploration. In 1943 they won the ex-aequo prize of the Congress of Documentary
Film for the first French underwater film. Par dix-huit métres de fond (18 meters
deep). Later that year, Cousteau met a French engineer named Emile Gagnan. The two
men experimented with compressed air cylinders and developed the first Aqua-Lung
device which allowed divers to stay underwater for long periods of time.

What is the first paragraph mainly about?

1) Cousteau’s main achievements

2) Cousteau’s life as a young man

3) Cousteau’s interest in photography

4) Cousteau’s skills as an oceanographer

The passage provides sufficient information to answer all of the following questions
about Cousteau EXCEPT —---aememeae- .

1) how many films he made 2) where and when he was born

3) when he survived an accident 4) what he did during World War I1
Where did Cousteau complete his preparatory studies?

1) In the French Navy 2) In Saint-André-de-Cubzac

3) A boarding school in Alsace 4) At the Collége Stanislas in Paris
The word “they” in paragraph 2 refers to —-—---eeneev,

1) his experiments 2) the next few years

3) Cousteau and his friends 4) Cousteau and Marcel Ichac

What did Cousteau and Emile Gagnan do?

1) They made the first Aqua-Lung device.

2) They began to explore the Mediterranean Sea.
3) They made the first pair of swimming goggles.
4) They produced the first French underwater film.
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